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	Find the mean, median, and mode.
	
	Find the mean, median, and mode.

	1. Here is a scoreboard from a baseball game showing the number of runs a team scored in each of the nine innings:

1 1 3 3 0 2 3 5 2. 
	
	1. The number of M&M’s in several different packages: 
33 41 28 36 35 35

	2. Heights of two-year-olds, in inches.

32 38 35 38 36 31 

29 40 39 33 33 34
	
	2. Tickets sold for different movies:
88 102 88 90 88 73 102 99

	3. Monthly rainfall amounts for Forest City, in inches: 

1, 1, 2, 3, 3, 3, 36, 4, 4, 3, 2, 1
	
	3. Refrigerators at the appliance store are priced as follows:

$459 $899 $1000 $785 $399



	For #1 - 8, find the mean, median, and mode.

	1. 112, 421, 2, 786, 389, 57
	2. 568, 524, 508, 555, 517, 524, 517, 517

	3. The number of chairs at each table:

4, 4, 6, 6, 8
	4. Length of movies, in minutes:
128, 95, 95, 123, and 104

	5. The depth of a river was measured at 3 feet deep at its shallowest point and 200 feet at its deepest.
	6. The high temperatures for part of November were:

43, 49, 51, 45, 46, 48, 50, 39, 46.

	7. Number of TVs sold by different salespeople: 

16, 4, 22, 15, 29, 24, 12, 16, 8, 10
	8. Number of tornadoes sighted in a 5-year period:

812, 853, 798, 767, 840

	Explain.
9. This is the number of cars a car dealer sold each month last year: Jan = 108, Feb = 117, Mar = 101, Apr = 119, May = 420, Jun = 112, Jul = 111, Aug = 102, Sep = 118, Oct = 103, Nov = 102, Dec = 120. Explain why the median is a better representation of these data than the mean.


Answer Key mat_8_4_2_k3_2

Guided Practice

1. Median = 2, avg. = 2.2 = 20/9, mode = 3

2. Mean = 34.8, median = 34.5, mode = 33, 38

3. Mean = 5.25, median = 3, mode = 3

Review Practice

1. Mean = 34.66, median = 35, mode = 35

2. Mean = 91.25, median = 89, mode = 88

3. Mean = 708.4, median = 785, mode = none

Independent Practice

1. Mean = 294.5, median = 250.5, mode = none

2. Mean = 528.75, median = 520.5, mode = 517

3. Mean = 5.6, median = 6, mode = 4, 6

4. Mean = 109, median = 104, mode = 95

5. Mean = 101.5, median = 101.5, mode = none

6. Mean = 46.33, median = 46, mode = 46

7. Mean = 15.6, median = 15.5, mode = 16
8. Mean = 814, median = 812, mode = none

9. The median is a better description of the data than the mean because there is an outlier in the data, May = 420. This causes the average to be abnormally high.
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